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(PART -1 s 2>)

12 2. Write short answers to any SIX (6) questions : - a‘agm/‘“}' L =ty (6)4;.:-_(;:r 2
(i) Solve : \3x+18 =x 6

(i) Define reciprocal equation. oy e (D

(i) Prove that the sum of all cube root of _LLV%}/J)‘{KJUJ?"V“ é:&ﬁf’é/w{r (iii)
unity is zero.

-’éf:/,'}"‘b../""fﬂbuurfﬁfjuﬁ 2px2 +3gx —4r =0 bl (v)
(iv) Find the sum and product of the roots of the equation 2 px2 +3gx —4r =0
(v) Define synthetic division. . AN (‘:}J u’[ ;)
(vi) Define simultaneous equations. -’»f{béi/"'gfu?bb:lﬁ (vi)
Ew 80~ G
E e 268, 7.6 (viid)

(vii) Define inverse variation.

(viii) Find fourth proportion to 8, 7. 6.

(ix) State theorem of componcndo-dividendo. _?__f ugwd:" ”:_,;’/]J’/ (ix)
12 3. Write short answers to any SIX (6) questions - 2{.:4(,!:2/:? L =iy (6)434.61( .

(i) Define a rational fraction. —gk oy S S (TX
(ii) What are partial fractions? ?U;?Gng’/ ez (i;)‘
(i) Find a and b if - (2a+5,3) =(7.b-4) : Jigek b a Gid

S L« M FaM= (3.4} L={a.b.c} ] (v
(v) If L={a.b,c} , M={3,4} thenfind two binary relations of L x M

“E XY IV ={4,8,12,~,24} sl X={2,4,6,———,20} /I ()
W If X={2,4.6.-—--,20} andY=1{4,8,12, -, 24} thenfind X~ Y .
(vi) Define a function. -é_;y/;d/gf@ (vi)
(vii) Define Median, Ey S s Giid)
(viii) Find Arithmetic Mean : 12,14, 17,20, 24, 29, 35, 45 D& Ll (viid)
(i) Find Harmonic Mean 12,5,8,4 P e ETA (i)
12 4. Write short answers to any SIX (6) questions : : ol el A L ey (6)4’{;3:( 4
(i) Find { when : #=60°30.,r=15mm : : -,5.2.‘";’}’” £ ®

-’&gui‘_)‘@'agfu_ﬁ:’/secz x -1 @i

(ii) Simplify to a single trigonometric function sec” x — 1

oy ] e w Fir 1 g

(iii) Convert -2 1o degrees. S pSS L | &
16 "

(iv) Differentiate between sector of circle and its segment. -é ok U .ab?m,#ﬂia/’u,g FGw

(v) Define circumference.of a ciréle- _’q{...x}{ /7 J L5 s (A

'(ZJ:‘JJ,')



©))
4. (vi) Define tangent of a circle. Py LAt Laits G
AU g b6 60° L sl 4 LT G

(vii) Find the radius of circle having 4 cm long chord subtends a central angle of 60°.

(viii) Define cyclic quadrilateral. Ay $ oS S (vidd)
(ix) Define Polygon. ..2?3/_4}3 Y Stz 2 ()
(PART-TI £35..2 )
Note : Attempt THREE questions in all. 59 / dlr’dg _é/&&iﬁﬁamrgﬁ’ J( U

But question No.9 is Compulsory. .
¥ -2x—105=0 : ZLe I 20 ) 5

5. (a) Solve the equation by completing square method : x? = 2x-195=0
-z?&jﬁ&f‘uﬁ/J"fuwma{&*,’w&/iué x?—23x +120= 0 =hl~ (<)

(b) Find the nature of the roots of the equation x? — 23x + 120 = 0 and verify the
result by solving the equation.

=iy t=3 222 x=do2 y=16nnu P ALt F sineFax’ Ky S (D) 6
y -2y v
<9 t=dplz=73 :xzzﬁéér;l/

6. (a) If y varies directly asx’ and inversely asz® and t andy = 16 whenx =4 |
z=2 t =3 ,findthevalueof y when x=2 , z=3 and t=4

. 3, =2 S .
(b) - Resolve into partial fractions : 6i7+—3x——l Zﬁrdly ut//d:i (<)
3x° —2x -1
J B={1,4,7,10} #A={1,3,5,7,9}U={1,2,3,4,———- 10} (D) 7

& . (AUBY =A'N B ZEeit
7. (@ If U={1,2,3,4,- J0Y LA={1,3,5,7,9} .B{1,4,7,10} then
prove that (AUB)Y= 4’ " B’
| ‘ D e i e f ettt bauttF Gkl (&)
11500, 12400, 15000, 14500, 14800

(b) The salariesof 5 teachers are as follow find the mean salary by using direct method :
11500, 12400, 15000, 14500, 14800

! + ! = 2cosec’d : féi"(cfb‘ (“ 8

1-cos@ 1+ cosd

-g/u'l/d)/»é:@ﬂ;é__bu’b/f 3 (L

(b) Draw two perpendicular tangents to a circle of radius 3 cm.

8. (a) Prove that .

9. Iftwo chord of a circle are ?iu;@,lﬂh‘z”d:uc;)r/w?untf&"}wﬁ_;/’bﬁ 9
congruent then they will be equidistant from the centre?
OR ; L

_.%‘.,t‘ﬂ)//.:hbﬁﬂbi./:if;v((ﬂ;ﬁﬁ )}'Ju’fc_}r/f_g//l;
i straight line drawn from the centre of a circle to bisect a chord ( which is not a diameter)
> dicular to the chord. ~ ;
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